CHEMISTRY

BOOKS - BETTER CHOICE PUBLICATION

THE P-BLOCK ELEMENTS

Question Bank

1. Define inert pair effect.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6K83x8WzDHjD

2.Unlike In™, TI™" is most stable with respect

to disproportionation reaction.

° Watch Video Solution

3. Explain inert pair effect with example.

° Watch Video Solution

4. A mixed oxide of iron and chromium,

FeO. Cry0; is fused with sodium carbonate


https://dl.doubtnut.com/l/_jraFW3WzlqVp
https://dl.doubtnut.com/l/_87C1JGDWxrxF
https://dl.doubtnut.com/l/_RUKyC8X4JlRn

in the presence of air to form a yellow
compound (A). On acidification, the compound
(A) forms an orange coloured compound (B)
which is a strong oxidising agent. Identify the

compounds (A) and (B) .

o Watch Video Solution

5. Bismuth is a strong oxidising agent in the

pentavalent state.

° Watch Video Solution



https://dl.doubtnut.com/l/_RUKyC8X4JlRn
https://dl.doubtnut.com/l/_OHyYvwUzmj7d
https://dl.doubtnut.com/l/_N28xfONax6yL

6. Explain why the first elements of a group

differ from other elements of its group.

o Watch Video Solution

7. Why does Nitrogen show anomalous

behaviour in its group ?

° Watch Video Solution



https://dl.doubtnut.com/l/_N28xfONax6yL
https://dl.doubtnut.com/l/_ra5PYu8CHncv

8. Nitrogen exists as diatomic molecule and
phosphorous acts as tetra atomic molecule.

Explain.

o Watch Video Solution

9. Why does the reactivity of nitrogen differ

from phosphorus?

° Watch Video Solution



https://dl.doubtnut.com/l/_W531wcwNgEXD
https://dl.doubtnut.com/l/_oWdEhkRgUlGA

10. Give reasons for the low reactivity of

nitrogen molecule.

o Watch Video Solution

1. Why does NHj3 form hydrogen bond but

PH; does not?

o Watch Video Solution



https://dl.doubtnut.com/l/_f84bbKLaHAS8
https://dl.doubtnut.com/l/_OlW65jK9MmX7

12. PH3 has lower boiling point than NHj.

Why?

° Watch Video Solution

13. Although fluorine is much more
electronegative than hydrogen yet the dipole
moment of NF3(0.24D) is much lower than

that of NH3(1.46D). Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_zTMjkVwvcoO3
https://dl.doubtnut.com/l/_6y8UADpXOjDZ
https://dl.doubtnut.com/l/_nAXJhOXoTbb5

14. NCI3 is an endothermic compound while

NF3 is an exothermic compound. explain

° Watch Video Solution

15. Explain some important characteristics of

white and yellow phosphorus.

o Watch Video Solution



https://dl.doubtnut.com/l/_nAXJhOXoTbb5
https://dl.doubtnut.com/l/_jMMBow6pe5vD

16. Why does nitrogen show catenation

properties less than phosphorus ?

° Watch Video Solution

17. Unlike Phosphorus, nitrogen shows little

tendency for catenation. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_Xy8Ab9VfnOZn
https://dl.doubtnut.com/l/_g8wYOnBuFuOV

18. Though nitrogen exhibits + 5 oxidation
state, it does not form penta-halide. Given

reason.

o Watch Video Solution

19. In the structure of HNO3 molecule, N-O
bond (121 pm) is shorter that N-OH bond (140

pm). why?

o Watch Video Solution



https://dl.doubtnut.com/l/_1Pzel2xT9EZW
https://dl.doubtnut.com/l/_4UPklnYttEkz
https://dl.doubtnut.com/l/_6k5pS1Hh4LwT

20. SF6 molecule is kinetically an inert

substance. Explain why?

o Watch Video Solution

21. SF6 is used in high voltage generators and

switch gears. Why?

o Watch Video Solution

22. Why does ammonia act as a lewis base?

| & I


https://dl.doubtnut.com/l/_6k5pS1Hh4LwT
https://dl.doubtnut.com/l/_wUETatYZmeYj
https://dl.doubtnut.com/l/_th4EZm3GiSh7

| ¥ Watch Video Solution |

23. Explain why both N and Bi do not form

pentahalides but Phosphorus does?

o Watch Video Solution

24. Give reason to explain +5 oxidation state is

less stable than the +3 state in Bismuth.

o Watch Video Solution



https://dl.doubtnut.com/l/_th4EZm3GiSh7
https://dl.doubtnut.com/l/_iD3coc6WBoc7
https://dl.doubtnut.com/l/_N6Fj42jWAwVL
https://dl.doubtnut.com/l/_PM79uQReIvXR

25. Write balanced equation when ammonia is

dissolved in water.

° Watch Video Solution

26. Describ chemistry of manufacture of
ammonia by Haber's process and discuss

conditions for good yield of ammonia.

° Watch Video Solution



https://dl.doubtnut.com/l/_PM79uQReIvXR
https://dl.doubtnut.com/l/_YQDCQILJhIU6

27. Addition of chlorine to potassium iodide
solution gives it a brown colour but excess of

chlorine turns it colourless. Why?

o Watch Video Solution

28. Draw flow chart for Haber's process fore

the manufacture of ammonia.

° Watch Video Solution



https://dl.doubtnut.com/l/_BZrRjfe7GRES
https://dl.doubtnut.com/l/_s0xd8HrjRto2

29. Explain Ostwald process for manufacturing
nitric acid. Draw structure of nitric acid and

write its uses also.

o Watch Video Solution

30. lllustrate how copper metal can give

different products on reaction with HNOs.

° Watch Video Solution



https://dl.doubtnut.com/l/_l0ntaSAAZVXF
https://dl.doubtnut.com/l/_aj1RyFQccVlD

31. Why does NO, dimerise ?

o Watch Video Solution

32. What is the covalence of nitrogen in NyOs

?

o Watch Video Solution

33. Why does nitric oxide become broen when

released inn air?



https://dl.doubtnut.com/l/_YjZsoPdkwEf0
https://dl.doubtnut.com/l/_3nVFsOOOoHZk
https://dl.doubtnut.com/l/_RF32vP0q3WaE

o Watch Video Solution

34. lonic solids conduct electricity in the
molten state but not in the solid state.

Explain.

o Watch Video Solution

35. Which gas is evolved when concentrated
HCl is added to powdered potassium

dichromate. On passing the evolved gas


https://dl.doubtnut.com/l/_RF32vP0q3WaE
https://dl.doubtnut.com/l/_AZX3qEG3pxVX
https://dl.doubtnut.com/l/_yIeojmlIL4oh

through acidified KBr solution, the solution
turns brown. Write the balanced equations for

the reactions involved.

o Watch Video Solution

36. Explain the difference in the structures of

white and red phosphorus.

° Watch Video Solution

37. Draw the structure of P,;Oy,.


https://dl.doubtnut.com/l/_yIeojmlIL4oh
https://dl.doubtnut.com/l/_3mrxzWSmah80
https://dl.doubtnut.com/l/_vhnZlawDIoNu

° Watch Video Solution

38. What happens when white phosphorus is
heated with concentrated NaOH solution in an

inert atmosphere of CO4 ?

° Watch Video Solution

39. Explain why orthophosphorus acid, H3 PO5

is diprotic .

o Watch Video Solution



https://dl.doubtnut.com/l/_vhnZlawDIoNu
https://dl.doubtnut.com/l/_GyicfeZAwDUY
https://dl.doubtnut.com/l/_LTStVIeEaGER

40. How do you account for the reducing
behaviour of H3P02 on the basis of its

structure ?

o Watch Video Solution

41. Why the basicity of all the acids of

phosphorus is different?

° Watch Video Solution



https://dl.doubtnut.com/l/_LTStVIeEaGER
https://dl.doubtnut.com/l/_hMf5udZDZ8lE
https://dl.doubtnut.com/l/_mTJESvzqhzG0
https://dl.doubtnut.com/l/_nZXqerAxOsfs

42, Give the structure and basicity of H3 PO,.

° Watch Video Solution

43. All the five bonds in PCl; are not

equivalent justify.

o Watch Video Solution

44, Draw the structure of PCls.

o Watch Video Solution



https://dl.doubtnut.com/l/_nZXqerAxOsfs
https://dl.doubtnut.com/l/_R645RA75EqrR
https://dl.doubtnut.com/l/_8UXZS9Mtk0IB

45. Why are pentahalides more covalent than

trihalides ?

o Watch Video Solution

46. Why does NO, dimerise ?

o Watch Video Solution

47. Write two reactions of HNQO3 with non-

metals to show the oxidising character.



https://dl.doubtnut.com/l/_8E7AP2FUrQ9j
https://dl.doubtnut.com/l/_ua72he06qd0G
https://dl.doubtnut.com/l/_ZNxYdYMl0Awc

o Watch Video Solution

48. Explain the acidic character of Perchloric

acid compared to sulphuric acid.

o Watch Video Solution

49. Why white phosphorus is more reactive

than red phosphorus?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZNxYdYMl0Awc
https://dl.doubtnut.com/l/_Rp5DJ4kKFgB1
https://dl.doubtnut.com/l/_I1RWfkhzlzKF
https://dl.doubtnut.com/l/_7DoGHgCuCfRi

50. What happens when ammonium nitrate is

heated ?

° Watch Video Solution

51. What is laughing gas ?

° Watch Video Solution

52. Account for the following: The +2 oxidation

state of lead is more stable than +2 oxidation


https://dl.doubtnut.com/l/_7DoGHgCuCfRi
https://dl.doubtnut.com/l/_SE1YLo0JUOAY
https://dl.doubtnut.com/l/_MR0oIcw3Uycb

state of Tin.

o Watch Video Solution

53. Inert pair effect strongly exists in heavy p-

block elements. Comment.

° Watch Video Solution

54. Why does R3P = O exist but R3N = O

does not (R-alkyl group) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MR0oIcw3Uycb
https://dl.doubtnut.com/l/_VTCRNrFEtNve
https://dl.doubtnut.com/l/_IF8CBXP1iyb7

55. write the chemical equatikons when

Ammonia reacts with aqueous FeCls.

° Watch Video Solution

56. Write the chemical equations when

Ammonia reacts with aqueous AlCI;.

o Watch Video Solution



https://dl.doubtnut.com/l/_IF8CBXP1iyb7
https://dl.doubtnut.com/l/_xBOj6lUV2aCE
https://dl.doubtnut.com/l/_uuktaGUclpcV

57. Write the chemical equations when

Ammonia reacts with aqueous CrCls.

o Watch Video Solution

58. Write the chemical equations when Zinc

reacts with dilute HNQOs.

o Watch Video Solution



https://dl.doubtnut.com/l/_cJqhhg6zFMkA
https://dl.doubtnut.com/l/_3lk7OIZv1gKs

59. Write the chemical equations when Zinc

reacts with dilute HNOs.

° Watch Video Solution

60. Write the chemical equations when: Zinc

reacts with cone. HNO;

o Watch Video Solution

61. PCl; is known but PI5 is not known. Why?



https://dl.doubtnut.com/l/_OMs4LPHVJbc6
https://dl.doubtnut.com/l/_TDMT4Okgnvit
https://dl.doubtnut.com/l/_5G6YWPWgEZMW

o Watch Video Solution

62. NClsisreadilyhydrolysedwhi < NF 3

does not. Explain.

o Watch Video Solution

63. NH; is a strong base but NF3 does not

show any basic property. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_5G6YWPWgEZMW
https://dl.doubtnut.com/l/_5bOwbqkg1rzO
https://dl.doubtnut.com/l/_MA5Eh0pzFHaS
https://dl.doubtnut.com/l/_fHlKxJHcWuyv

64. Why nitric acid acts on oxidising agent ?

How it oxdises Sulphur to sulphuric acid.

° View Text Solution

65. Why nitric acid acts as an oxididing agent?
How it oxidises: Ferrous Sulphate to Ferric

sulphate acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_fHlKxJHcWuyv
https://dl.doubtnut.com/l/_5oOhadHE7wuQ

66. Discuss abnormal behaviour of oxygen.

o Watch Video Solution

67. Why water is a liquid and hydrogen

sulphide is a gas?

° Watch Video Solution

68. Sulphur show +4 and +6 oxidation stae in

their compounds but oxygen can not show


https://dl.doubtnut.com/l/_evZMAfZtzyqG
https://dl.doubtnut.com/l/_fytvGAjQn5oO
https://dl.doubtnut.com/l/_RuJuw0j1XxDV

these oxidation states.

o Watch Video Solution

69. Why SFy is known but OFj is not known

o Watch Video Solution

70. Explain why H,0 is a liquid butH,S is a

gas at room temperature.

° Watch Video Solution



https://dl.doubtnut.com/l/_RuJuw0j1XxDV
https://dl.doubtnut.com/l/_UwrXXx81EQY0
https://dl.doubtnut.com/l/_DMAmBDSdcdpo

71. How aerosols are depleting ozone layer?

o Watch Video Solution

72.Why is H, S less acidic than Hy Te ?

o Watch Video Solution

73.Why H, S is acidic wliile HyO is nentral ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LfBv3D2Tzm60
https://dl.doubtnut.com/l/_a5u1lnNaFEdX
https://dl.doubtnut.com/l/_ZvIGPzU2LhCf

74.Why is H,S less acidic than Hy Te ?

o Watch Video Solution

75. What is the oxidation state of phosphorus

in H 3P0 3, Ca 3P 2,Na 3PO 4 and POF 3

° Watch Video Solution

76. Sulphur exhibits greater tendency for

catenation than seleniun. Explain why?



https://dl.doubtnut.com/l/_1Ni8Fg3U6seO
https://dl.doubtnut.com/l/_B9Qj9eMSaAm6
https://dl.doubtnut.com/l/_OP6wP4esz49c

o Watch Video Solution

77. Elements of Group 16 generally show lower
value of first ionisation enthalpy compared to

the corresponding periods of group 15. Why?

o Watch Video Solution

78. Oxygen gas is inert at room temperature

why?

o Watch Video Solution



https://dl.doubtnut.com/l/_OP6wP4esz49c
https://dl.doubtnut.com/l/_F991ejdaIASU
https://dl.doubtnut.com/l/_80U9KMzHK8hH

79. Give two methods of preparation of

dioxygen in laboratory and give its uses ?

o Watch Video Solution

80. Discuss the preparation of ozone by

Sieman's Ozoniser.

o Watch Video Solution



https://dl.doubtnut.com/l/_80U9KMzHK8hH
https://dl.doubtnut.com/l/_esgwPKGMiTHo
https://dl.doubtnut.com/l/_zlHqQsCdClYT

81. Write two uses of ozone.

o Watch Video Solution

82. Why does O3 act as a powerful oxidising

agent ?

° Watch Video Solution

83. What is the role of SO 2 in air pollution?

° Watch Video Solution



https://dl.doubtnut.com/l/_U052AN3UQ0Qj
https://dl.doubtnut.com/l/_hMXyG2ojbWpj
https://dl.doubtnut.com/l/_9smPcUERMdu0

84. How will ozone oxidise the following :

Potassium nitrite to potassium nitrate.

o Watch Video Solution

85. What will be the oxidation number of S in

SO 2Cl 2 and of P in Ca 3P 27

° Watch Video Solution



https://dl.doubtnut.com/l/_9smPcUERMdu0
https://dl.doubtnut.com/l/_GFLx0OqP2xwd
https://dl.doubtnut.com/l/_QG8mOWOQJu3H

86. How will ozone oxidise the following :
Potassium manganate to potassium per

manganate.

o Watch Video Solution

87. How does fluorine and chlorine react with

water. Only write chemical reactions.

° Watch Video Solution



https://dl.doubtnut.com/l/_l3HZCXA2nkTQ
https://dl.doubtnut.com/l/_61R3NAHYoS41

88. How does O3 oxidises the Acidified ferrous

sulphate to fertic sulphate .

o Watch Video Solution

89. What is tailing of mercury ?

o Watch Video Solution

90. How ozone reacts with mercury.

o Watch Video Solution



https://dl.doubtnut.com/l/_EV5DcTVwLqUB
https://dl.doubtnut.com/l/_kKJVUXT3rULS
https://dl.doubtnut.com/l/_ZuJNpbVGjIe8

91. Discuss the shape of SFj

o Watch Video Solution

92. Discuss the shape of SF}?

o Watch Video Solution

93. SFy is known but SClg is not known.

Explain.



https://dl.doubtnut.com/l/_ZuJNpbVGjIe8
https://dl.doubtnut.com/l/_HCugH8VhyW1P
https://dl.doubtnut.com/l/_nbCF1vl1hGwe
https://dl.doubtnut.com/l/_WuqZdTHqddGc

o Watch Video Solution

94. Sulphur hexafluoride is used as a gaseous

electrical insulator. Explain.

o Watch Video Solution

95. SF, is easily hydrolysed whereas SFy is

not easily hydrolysed. Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_WuqZdTHqddGc
https://dl.doubtnut.com/l/_UCwjERIGPKq4
https://dl.doubtnut.com/l/_AXbGCPi8Ob5Y
https://dl.doubtnut.com/l/_nBD7SDvgg1GM

96. Why SFj in inert towards hydrolysis ?

o Watch Video Solution

97. Why is SFg much less reactive than SF} ?

o Watch Video Solution

98. Why SFjy is known but SHg is not known ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nBD7SDvgg1GM
https://dl.doubtnut.com/l/_7pFKFHly4jdN
https://dl.doubtnut.com/l/_tRMFyi7dGBuC
https://dl.doubtnut.com/l/_v3m62L9fXb8E

99. Which form of sulphur shows

paramagnetic behaviour and why ?

o Watch Video Solution

100. Why does sulphur in vapour state exhibit

paramagnetic character ?

o Watch Video Solution



https://dl.doubtnut.com/l/_v3m62L9fXb8E
https://dl.doubtnut.com/l/_owg9F1z6iWHm

101. Explain that SO, can act as an oxidising
agent as well as a reducing agent, but SO;3

can act as an oxidising agent only.

o Watch Video Solution

102. Explain that SO, can act as an oxidising
agent as well as a reducing agent, but SO;3

can act as an oxidising agent only.

o Watch Video Solution



https://dl.doubtnut.com/l/_6Fxv8H32maZb
https://dl.doubtnut.com/l/_JVNEs5knN0mx
https://dl.doubtnut.com/l/_lNr52NNLMFmn

103. SO, act as both oxidising and reducing
agent but HyS acts as only reducing agent.

Why ?

o Watch Video Solution

104. Comment on nature of two S-O bond
formed in SO, molecule. Are the two S-O

bonds in this molecule equal ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lNr52NNLMFmn
https://dl.doubtnut.com/l/_ieiiedPSGDBt
https://dl.doubtnut.com/l/_MNBhnTgsRPAd

105. SO, has acidic character. Explain.

o Watch Video Solution

106. Write the reaction of SO, with Cl,

o Watch Video Solution

107. Write the reaction of SO, with Cl,

o Watch Video Solution



https://dl.doubtnut.com/l/_MNBhnTgsRPAd
https://dl.doubtnut.com/l/_vawOnhInFE7T
https://dl.doubtnut.com/l/_9ZvNuzPMmApW
https://dl.doubtnut.com/l/_FykByO0rDBaZ

108. Give the oxidation of Nay505 by acidified

KM’I’LO4

° Watch Video Solution

109. Give the formula and structures of

different oxo-acids of sulphur ?

o Watch Video Solution

110. Describe the manufacture of H,50, by

contact process?


https://dl.doubtnut.com/l/_FykByO0rDBaZ
https://dl.doubtnut.com/l/_ywiuy1Evbf2x
https://dl.doubtnut.com/l/_D3N93C1rWgVr

° Watch Video Solution

111. Explain the manufacture of sulphuric acid

by contact process.

o Watch Video Solution

112. Write the conditions for maximum yield of

H,50, by contact process.

° Watch Video Solution



https://dl.doubtnut.com/l/_D3N93C1rWgVr
https://dl.doubtnut.com/l/_dNfFhzgqUSxy
https://dl.doubtnut.com/l/_7oKeRUpXcIhB
https://dl.doubtnut.com/l/_2nR69YyRBHri

113. Give an example of a reaction in which

H,50, behaves as a strong acid .

o Watch Video Solution

114. Give an example of a reaction in which

H,50, behaves as a dehydrating agent

° Watch Video Solution



https://dl.doubtnut.com/l/_2nR69YyRBHri
https://dl.doubtnut.com/l/_PDdb3a7eXkqP

115. Give an example of a reaction in which

H,50, behaves as an oxidising agent.

o Watch Video Solution

116. Describe the commerical uses of sulphuric

acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_CmOcPd6GLWOr
https://dl.doubtnut.com/l/_hmHnXmqXjWWl

117. Mention three areas in which Hy SO, plays

an important role.

o Watch Video Solution

118. Why conc. HyS0y, is viscous and has high

boiling point ?

o Watch Video Solution

19. Why is K, << k,, for H3SO, in water?



https://dl.doubtnut.com/l/_wyOFJGvvTghZ
https://dl.doubtnut.com/l/_gFHbTB8DSyHT
https://dl.doubtnut.com/l/_02wjGgJO435m

o Watch Video Solution

120. Why conc. sulphuric acid is always diluted
by adding sulphuric acid to water with

constant stirring and not water to the acid ?

o Watch Video Solution

121. Write the chemical equation when: Oxalic

and reacts with concentrated H,S0,.

o Watch Video Solution



https://dl.doubtnut.com/l/_02wjGgJO435m
https://dl.doubtnut.com/l/_KvvRpcq88PHo
https://dl.doubtnut.com/l/_KFFLoRjRAEzM

122. Write the chemical equation when: Formic

acid reacts with concentrated H,50,.

o Watch Video Solution

123. Write the chemical equations when: Sugar

reacts with conc. H,50,.

° Watch Video Solution



https://dl.doubtnut.com/l/_KFFLoRjRAEzM
https://dl.doubtnut.com/l/_JV9myl0HXLgR
https://dl.doubtnut.com/l/_JOzyyCPO3KeZ

124. SO3 has zero dipole moment. Why ?

o Watch Video Solution

125. Why does fluoriue show anomalous

behaviour in its group ?

o Watch Video Solution

126. Why are halogens most reactive ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Sy423GBpoBTn
https://dl.doubtnut.com/l/_JkfBqSJykOx6
https://dl.doubtnut.com/l/_LvqDd8oroGSk

127. Explain why Bond dissociation energy of

F is less than that of Cl, ?

o Watch Video Solution

128. Explain why
F-F bond in fluorine is weaker than CI-Cl bond

in chlorine ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LvqDd8oroGSk
https://dl.doubtnut.com/l/_ptqPwAVINgkx
https://dl.doubtnut.com/l/_05uXxAMLQqRP
https://dl.doubtnut.com/l/_lQPoo9QN8ZiV

129. Explain the following :

HF is a weaker acid than HI.

o Watch Video Solution

130. Explain the following :
lodine is more soluble in Kl solution than in

water.

o Watch Video Solution



https://dl.doubtnut.com/l/_lQPoo9QN8ZiV
https://dl.doubtnut.com/l/_kEbbce9vWUEj

131. Explain the following :
Fluorine does not show positive oxidation

state.

o Watch Video Solution

132. Explain the following :
lodine forms I3_ but F, does not form F3_

ion. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_lnot7Y98qUFC
https://dl.doubtnut.com/l/_8vU1WkbCK1j4
https://dl.doubtnut.com/l/_GEvV8NGkpbZ4

133. Explain: Electron gain enthalpy of chlorine

is more negative than fluorine.

o Watch Video Solution

134. Why electron affinity of fluorine is less

than that of chlorine ?

o Watch Video Solution



https://dl.doubtnut.com/l/_GEvV8NGkpbZ4
https://dl.doubtnut.com/l/_LKgrvFRXGDKN

135. Boiling point of HCI is lower than HF .

Explain why?

° Watch Video Solution

136. Why are halogens coloured ?

° Watch Video Solution

137. Halogens have maximum negative

electron gain enthalpy in the respective


https://dl.doubtnut.com/l/_RZZq6jF7cwrA
https://dl.doubtnut.com/l/_UAneHes2lDQO
https://dl.doubtnut.com/l/_zHXRfT2jW0og

periods of the periodic table. Why ?

o Watch Video Solution

138. Electron gain enthalpy of chlorine is more

negative as compared to fluorine.

° Watch Video Solution

139. Considering the parameters such as bond

dissociation enthalpy, electron gain enthalpy


https://dl.doubtnut.com/l/_zHXRfT2jW0og
https://dl.doubtnut.com/l/_YUpgtrHIN5ca
https://dl.doubtnut.com/l/_T9wxcAfC8t2B

and hydration enthalpy, compare the oxidising

power of Fy and Cls.

° Watch Video Solution

140. Why is fluorine a very reactive halogen ?

° Watch Video Solution

141. Account for the following: Among the

halogens Fj is the strongest oxidising agent.

o Watch Video Solution



https://dl.doubtnut.com/l/_T9wxcAfC8t2B
https://dl.doubtnut.com/l/_qhqbXCcKQNkk
https://dl.doubtnut.com/l/_7H5rMImTHspF

142. Fluorine exhibits only - 1 oxidation state
whereas other halogens exhibit positive

oxidation states such as +1, +3, +5, +7.

o Watch Video Solution

143. Explain why
Most metal fluoride are ionic in nature than

metal chloride.

o Watch Video Solution



https://dl.doubtnut.com/l/_7H5rMImTHspF
https://dl.doubtnut.com/l/_VCy6uOFL9tWu
https://dl.doubtnut.com/l/_QTxEQ2avN84v

144. Explain why
Hydrogen fluoride is a weaker acid than

hydrogen chloride in aqueous solution.

o Watch Video Solution

145. Why are halogens strong oxidising

agents?

° Watch Video Solution



https://dl.doubtnut.com/l/_QTxEQ2avN84v
https://dl.doubtnut.com/l/_L4S4TWfzKING
https://dl.doubtnut.com/l/_8Wu7P5egv6Pe
https://dl.doubtnut.com/l/_OuQoY4OjZhRZ

146. Explain why inspite of nearly the same
electronegativity, nitrogen forms hydrogen

bonding while chlorine does not.

° Watch Video Solution

147. Write the reactions of F, and Cly with

water.

o Watch Video Solution



https://dl.doubtnut.com/l/_OuQoY4OjZhRZ
https://dl.doubtnut.com/l/_LkTU94v0F5eN

148. Arrange the following in the order of
property indicated for each set:
F5, Clsy, Bry, I, - increasing bond dissociation

enthalpy.

o Watch Video Solution

149. Arrange the following in the order of

property indicated for each set:
HF HC1,HBr,HI - increasing acid
strength.

| & I


https://dl.doubtnut.com/l/_YDadO4sQVbAP
https://dl.doubtnut.com/l/_yWemMAXeajlk

| ¥ Watch Video Solution |

150. Write the balanced chemical equation for
the reaction of C1I, with hot and concentrated
NaOH. Is this reactiona disporpetination

reaction? Justify.

o Watch Video Solution

151. Write the balanced chemical equation for

the reaction of C'I, with hot and concentrated


https://dl.doubtnut.com/l/_yWemMAXeajlk
https://dl.doubtnut.com/l/_nUlERiZ0Xypk
https://dl.doubtnut.com/l/_nkQtKt4Q2I7F

NaOH. Is this reactiona disporpetination

reaction? Justify.

° Watch Video Solution

152. Write the balanced chemical equation for
the reaction of CI, with hot and concentrated
NaOH. Is this reactiona disporpetination

reaction? Justify.

o Watch Video Solution



https://dl.doubtnut.com/l/_nkQtKt4Q2I7F
https://dl.doubtnut.com/l/_qEmslbVvQH19

153. Anita coloured 3 of the circle with yellow

4 : ,
colour and 3 of the circle with green colour.

How much portion of circle did She colour?

o Watch Video Solution

154. Name two poisonous gases which can be

prepared from chlorine gas.

° Watch Video Solution



https://dl.doubtnut.com/l/_pNZBx3M8Cr71
https://dl.doubtnut.com/l/_BvnvMxXeJXjG

155. Give the reason for bleaching action of

Cls.

o Watch Video Solution

156. Bleaching of flowers by chlorine is
permanent while that by sulphur dioxide is

temporary. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_QyiyrZUwxYE0
https://dl.doubtnut.com/l/_5OPRxYUYhaeM

157. How can you prepare Cly from HCl and

HCl from Cly? Write reactions only.

° Watch Video Solution

158. Write balanced equations for the
following: NaCl is heated with sulphuric acid in

the presence of MnOQO..

° Watch Video Solution



https://dl.doubtnut.com/l/_q74pXIjztkOT
https://dl.doubtnut.com/l/_t2COdLxysCqo

159. Write balanced equations for the
following: Chlorine gas is passed into a

solution of Nal in water.

o Watch Video Solution

160. Name the different oxoacids of halogens

and draw their structure.

° Watch Video Solution



https://dl.doubtnut.com/l/_MTRjTSqWgEas
https://dl.doubtnut.com/l/_RGwlnF7vzfq2

161. Explain why fluorine forms only one

oxoacid, HOF.

o Watch Video Solution

162. Explain why perchloric acid is a strong

acid than sulphuric acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_ys9tqrPZdIqQ
https://dl.doubtnut.com/l/_JN5RWHPbOTOy

163. Arrange HCIO, HBrO and HIO in
order to decreasing acidic strength giving

reasons.

o Watch Video Solution

164. Compare the acidic strength of HCIO,,

HCl10O3, HCI1O5, HCIO. Give reasons.

° Watch Video Solution



https://dl.doubtnut.com/l/_WyeguMsaJ3Jk
https://dl.doubtnut.com/l/_oihjZmi0Ttk9

165. Arrange HCIO, , HCIOs,
HCIOy, HCIO in order of oxidizing power.

Give reasons.

o Watch Video Solution

166. What are interhalogen compounds ? Give

example.

o Watch Video Solution



https://dl.doubtnut.com/l/_iW4znVmsueVD
https://dl.doubtnut.com/l/_CK5IxA2QsqZ2

167. What are the interhalogen compounds ?

Why are these more reactive than halogens ?

o Watch Video Solution

168. Why ICl is more reactive than I, ?

o Watch Video Solution

169. Why CIF3; exists, but F'Cl3 does not exist

?



https://dl.doubtnut.com/l/_SDE2WKybM0JM
https://dl.doubtnut.com/l/_zLFwINRIf9o6
https://dl.doubtnut.com/l/_E2KOE5gRXv1W

o Watch Video Solution

170. Give important properties of magnets.

o Watch Video Solution

171. Discuss the molecular shape of BrFj3 on

the basis of VSEPR theory.

° Watch Video Solution



https://dl.doubtnut.com/l/_E2KOE5gRXv1W
https://dl.doubtnut.com/l/_OSleDbbKnv4M
https://dl.doubtnut.com/l/_UnTkhKxxmzH7

172. Draw the structure of following

interhalogen compound.

CIF,

o Watch Video Solution

173. Draw the structure of following

interhalogen compound.

IF;

o Watch Video Solution



https://dl.doubtnut.com/l/_8qPDVMMTOgLf
https://dl.doubtnut.com/l/_nJ2M262j4SaK
https://dl.doubtnut.com/l/_S5D2WlE1NupJ

174. Draw the structure of following

interhalogen compound.

IF,

o Watch Video Solution

175. With what neutral molecule is CIO™

isoelectronic? Is that molecule a Lewis base?

o Watch Video Solution



https://dl.doubtnut.com/l/_S5D2WlE1NupJ
https://dl.doubtnut.com/l/_7U0NDvTmYu1K

176. What are pseudohalogens ? Give example.

o Watch Video Solution

177. What are freons ?

o Watch Video Solution

178. Why are the elements of Group 18 known

as noble gases ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wjOTnahaVRU8
https://dl.doubtnut.com/l/_4xD5CprT5XtH
https://dl.doubtnut.com/l/_JA0odIxai8Bx

179. Why elements of Group 18 are less reactive

or inert?

o Watch Video Solution

180. Noble gases have low boiling points.

Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_JA0odIxai8Bx
https://dl.doubtnut.com/l/_SqeyBjtiToJE
https://dl.doubtnut.com/l/_uthsDgbERWw4

181. Why has it been difficult to study the

chemistry of radon?

o Watch Video Solution

182. Why electron gain enthalpies of noble

gases are positive ?

o Watch Video Solution



https://dl.doubtnut.com/l/_J9JAplSz9NFR
https://dl.doubtnut.com/l/_CpmrEkYPbu49

183. Why noble gases have very high values of

lonisation enthalpies?

° Watch Video Solution

184. Why is helium placed in p-block elements
although its last electron enters in the s-

orbital ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oB7X1ITP2vd8
https://dl.doubtnut.com/l/_fCTxI6in2oND

185. What inspired N. Bartlett,for carrying out

the reaction between Xe and PtFy?

° Watch Video Solution

186. What inspired N. Bartlett,for carrying out

the reaction between Xe and PtFy?

o Watch Video Solution



https://dl.doubtnut.com/l/_3c6pofuy483t
https://dl.doubtnut.com/l/_lmk1l5JIki6G

187. Among noble gases, only Xe is known to

form chemical compounds. Why ?

° Watch Video Solution

188. Why do noble gases form compounds

with fluorine and oxygen ?

o Watch Video Solution



https://dl.doubtnut.com/l/_sqRqE17VQQJF
https://dl.doubtnut.com/l/_3SqLWAHL8Qm7

189. How are Xenon fluorides XefF5, XeF, and

XeFg prepared ?

o Watch Video Solution

190. Discuss the structure of the XeF, on the

basis of VSEPR theory.

o Watch Video Solution



https://dl.doubtnut.com/l/_riPBNea7DE7p
https://dl.doubtnut.com/l/_nvTuNpluu5X1

191. Discuss the structure of XeF, on the

basis of VSEPR teory.

o Watch Video Solution

192. How are XeQO3 and XeOF}, prepared?

o Watch Video Solution

193. Discuss the shapes of

XeOs, XeOF,, XeOF,, and XeOsF,



https://dl.doubtnut.com/l/_55d6ow2WqtZs
https://dl.doubtnut.com/l/_C8eEtNDXM6qV
https://dl.doubtnut.com/l/_zWQ49CwoY1c9

View Text Solution

194. Discuss the hydrolysis of XeFj5. Does the

hydrolysis of XeFj lead to a redox reaction ?

o Watch Video Solution

195. Give equation for the following:

X€F2 + HgO —

o Watch Video Solution



https://dl.doubtnut.com/l/_zWQ49CwoY1c9
https://dl.doubtnut.com/l/_A0p5IkCIe4mD
https://dl.doubtnut.com/l/_VZLXGIL6QCgO
https://dl.doubtnut.com/l/_EQ3QgazysnsD

196. Give equation for the following:

X€F6 + HQO

o Watch Video Solution

197. Give equation for the following:

X€F2—|—PF5 —

o Watch Video Solution



https://dl.doubtnut.com/l/_EQ3QgazysnsD
https://dl.doubtnut.com/l/_C18MxRVCkKkM

198. Give equation for the following:

XeFg + NaF —

o Watch Video Solution

199. Give the structure of XeOF, and state of

hybridization of Xe in it.

o Watch Video Solution

200. Why is helium used in diving apparatus?



https://dl.doubtnut.com/l/_M2iC0eEQOg4E
https://dl.doubtnut.com/l/_GassyoR19dSj
https://dl.doubtnut.com/l/_abwgh6Y7CsMi

o Watch Video Solution

201. List the uses of neon and argon gases.

o Watch Video Solution

202. Give uses of argon, helium, neon, xenon

and krypton gases.

° Watch Video Solution



https://dl.doubtnut.com/l/_abwgh6Y7CsMi
https://dl.doubtnut.com/l/_IG9QPOqQNj3p
https://dl.doubtnut.com/l/_zlChOYyahH83

203. Give the formula and describe the
structure of a noble gas species which is

isostructural with: IC1,-

o Watch Video Solution

204. Give the formula of the noble gas species

which is isostructural with IBrz_ )

° Watch Video Solution



https://dl.doubtnut.com/l/_KzJNikUFJQfP
https://dl.doubtnut.com/l/_HWZuQUMYZCBb

205. Give the formula of the noble gas species

which is isostructural with B'rO3_ )

o Watch Video Solution



https://dl.doubtnut.com/l/_b3ATisgoZyV3

